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BEANRE SHTEEHFT P T B LMECTR) BRI 4

£ ¥ 1R - Ik B % B B & # wmE
EEIEE 17,102, 224
ENREEUE 1 ¢ 17,102, 224
BREEURIS 1 4 17,102, 224
BNREEURIS 1 4 16, 853, 924
B 520, 101
1 AE#ERE 1.00 303, 757 303, 757
=®
2 HEHEHR 1.00 104, 309 104, 309
=®
I BE (L) 1.00 95, 506 95, 506
=®
4 BE (kL) 1.00 16, 529 16,529
=®
EREEHI 1,919, 736
5 L TR EUE5EE 108. 00 7,455 805, 140
th 5
6 skAzEHEHEI(1) 4.00 83, 582 334,328
=]
7 kfzEtEHEI(2) 4.00 83, 582 334,328
=]
8 Bi/kaiEtiL T E5E 4.00 85, 105 340, 420
=]
9 LTHRE LT 1.00 52,760 52,760
m
10 #EHE LT 1.00 52,760 52,760
m




BEANRE SHTEEHFT P T B LMECTR) BRI 4

% g B - K& B % B B @ £ & W =
NEAEFEESR 5, 688,872
11 BERE 9.00 212,060 1,908, 540
]
12 ERRF =R 1.00 212,060 212, 060
]
13 B =R 1.00 270, 608 270, 608
]
14 BREEXE 16, 000. 00 167 2,672,000
m2
15 Eff GRIHRE) 1.00 145, 664 145, 664
=
16 0n& 32.00 15, 000 480, 000
t
R 1,300, 072
17 SRl RO=EE 1.00 1,300, 072 1,300, 072
=
KigBIE 900, 347
18 BETXbH 1.00 598, 257 598, 257
=
19 TILFE—LBIZE 0.25 1,208, 360 302, 090
km2
iz H 2 6, 325, 146
20 tEETRIE (TR0 12.10 70,195 849, 359
km
21 UAVH" )-ub-4" -l & 0. 11 35, 155, 950 3,867, 154
km 2
22 /EEEROD 41.00 7,154 293, 314
1T




BEANRE SHTEEHFT P T B LMECTR) BRI 4

% L] His - BAIKTHE AL - B ® # m =

23 |EEERO 1.00 1,315,319 1,315,319
=

iE R 199, 650

24 HHEIHE 1.00 86, 750 86, 750
=l

25 thfdskeE 1.00 56, 450 56, 450
=l

26 m¥EmE 1.00 56, 450 56, 450
=l

EEEE 248, 300

EBHAERE 200, 000

2] £BRES 1.00 200, 000 200, 000
=

EIXRERE 48, 300

28 fETEREHE 1.00 48, 300 48, 300
=




BiER SHTEEFIIR LN IBET KBS 4
% # s - R B 2 i 2 = W E

EEIEE 17,102, 224
HEE 17,102,224 x 71.2% — 9,007 12,167,776
BEEEE 17,102,224 + 12,167,776 29, 270, 000
B2 EHEME 29, 270, 000
HEHENRLE 29,270,000 x 10.00% 2,927,000
HEXKE 29,270,000 + 2,927,000 32,197,000
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51
&% REER IEEP)
& g B - BIKSTE B = B @ * & B = w &
B F A
A 1.50 60, 600. 00 90, 900
B = HEm
A 2.50 52, 300. 00 130, 750
B = HEm
A 1.50 41, 100. 00 61, 650
BIEBF
A 0.50 34, 900. 00 17, 450
M E2NOY)
% 1.00 300, 750. 00 3,007
& B 1EZE8EH - 1. 00X 303, 757. 00 303, 757
55 :2
4 g B - BIKSTE B = B @ * & = ® &
BIEWBE
A 2.00 28, 700. 00 57, 400
FSwy 2t1E
=] 1.50 30, 585. 00 45,877/4.70H / 8H
M E2NOY)
% 1.00 103, 277. 00 1,032
& B 1EZE8EH - 1. 00X 104, 309. 00 104, 309
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SMTEEHMRP LHNSISCT XS REERBISM 4

%5 :3
& BE (EL) 1LY
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 0.60 3,602. 00 2,161 2.00H / 8H
BlEFEHED
A 0.60 60, 600. 00 36, 360
B S HER
A 0.60 52, 300. 00 31, 380
B = H AR
A 0.60 41,100. 00 24, 660
AR L NOY
% 1.00 94, 561. 00 945
& B 1EZBER - 1.00 95, 506. 00 95, 506
&5 4
B BE (kL) 1RXEHY (A=)
£ 7 R - KT By = B Of & | W E B =
TEE 5S4 kY 2L
H 0.10 3,602. 00 360/2.00H / 8H
Anot i INEYZR— k, FRP 2. 5m
H 0.50 1,212.00 606 8H
BlEFEHED
A 0.10 60, 600. 00 6, 060
B S HER
A 0.10 52, 300. 00 5,230
B = H AR
A 0.10 41,100. 00 4,110
AR N0
% 1.00 16, 366. 00 163
& B EZBER - 1.00= 16, 529. 00 16, 529
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55
B TR E15EHA THEHY (23t R)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,602. 00 3,602 2.00H / 8H
Anot i INEYZR— , FRP 2. 5m
=] 1.00 1,212.00 1,212/8H
bahAT-vaviEH AERREAI0R . BIEEFERESmm+5ppm x D
=] 1.00 1,504. 00 1,504
B S HER
A 1.00 52, 300. 00 52,300
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 1.00 34, 900. 00 34,900
BIEHEE
A 1.00 28, 700. 00 28, 700
AR L NOY
% 5.00 163, 318. 00 8,165
& B {EZBER : 23. 004 = 7, 455. 00 171, 483
&5 :6
B KELETEHRICT) 1EZY (1[E)
£ 7 R - KT By = B Of & | W E B =
TEE S4 kY 2L
=] 1.00 3,602. 00 3,602 2.00H / 8H
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 1.00 34, 900. 00 34,900
AR L NOY
% 5.00 79, 602. 00 3,980
& B {EZ8ER - 1.00mE 83, 582. 00 83, 582
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SMTEEHMRP LHNSISCT XS REERBISM 4

&5 .17
B KELETETERI(2) 1EZY (1[E)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,602. 00 3,602 2.00H / 8H
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 1.00 34, 900. 00 34,900
AR =L NOY
% 5.00 79, 602. 00 3,980
& B {EZ8ER - 1.00ME 83, 582. 00 83, 582
%5 :8
AF : BRAKMELET=ETR 1EZY ([ED)
£ 7 R - KT By = B Of & o W E B =
TEE S4 kY 2L
=] 0.50 3,602. 00 1,801/2.00H / 8H
bahAT-vaviEH AERREAI0R . BIEEFERESmm+5ppm x D
=] 0.50 1,504. 00 752
B S HER
A 0.50 52, 300. 00 26, 150
B = H AR
A 0.50 41,100. 00 20, 550
BIEBNF
A 0.50 34, 900. 00 17, 450
BIEHEE
A 0.50 28, 700. 00 14, 350
AR L NOY
% 5.00 81, 053. 00 4,052
& B {EZ8ER - 1.00mE 85, 105. 00 85, 105
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59
B ATHRELT m&ELY (6m)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
B 1.00 3,602.00 3,602/2.00H / 8H
Anot i INEYZR— , FRP 2. 5m
B 1.00 1,212.00 1,212 8H
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 1.00 34, 900. 00 34,900
BKE(FA1\—) 10mk 578
A 2.00 52, 700. 00 105, 400
AR L NOY
% 70.00 186, 214.00 130, 349
= it YE%HES : 6.00m 52, 760. 00 316, 563
H5:10
B #EHELES m&ELY (6m)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
B 1.00 3,602. 00 3,602/2.00H / 8H
Anot i INEYZR— , FRP 2. 5m
B 1.00 1,212.00 1,212 8H
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 1.00 34, 900. 00 34,900
BKE(FA1—) 10mk 578
A 2.00 52, 700. 00 105, 400
AR L NOY
% 70.00 186, 214.00 130, 349
= 5 YE%HES : 6.00m 52, 760. 00 316, 563
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SMTEEHMRP LHNSISCT XS REERBISM 4

&H5: 11
& BEAR 1EEZY (1ED
2 Lo R - KT By = B ff € &8 W E H %
REBE 54 kY 2
A 1.00 3,602.00 3,602 2.00H / 8H
B S HER
A 1.00 52, 300. 00 52, 300
B = H AR
A 2.00 41,100. 00 82, 200
BIEBNF
A 2.00 34, 900. 00 69, 800
Mo 2RD%
% 2.00 207, 902. 00 4,158
& B {EZ8ER - 1.00ME 212, 060. 00 212,060
H5 :12
B R AR 1EEZY (1ED
2 Lo R - KT By = B ff € &8 W E w %
REE 54 kY 2
=] 1.00 3,602.00 3,602 2.00H / 8H
B S HER
A 1.00 52, 300. 00 52, 300
B = H AR
A 2.00 41,100. 00 82, 200
BIEBNF
A 2.00 34, 900. 00 69, 800
Mo 2RD%
% 2.00 207, 902. 00 4,158
& B {EZ8ER - 1.00mE 212, 060. 00 212,060




Rifiz -/ \v7r—o

SMTEEHMRP LHNSISCT XS REERBISM 4

H5:13
2% AR 1EZHY (E)
£ 7 R - BIRTE BARL 2 B Of € W E B &
REE S4 kY 2L
B 1.00 3,602.00 3,602/2.00H / 8H
B S HER
A 1.00 52, 300. 00 52,300
B = H AR
A 2.00 41,100. 00 82,200
BIEBF
A 2.00 34, 900. 00 69, 800
BIEHEE
A 2.00 28, 700. 00 57,400
AR L NOY
% 2.00 265, 302. 00 5,306
= 5 1YEZHER - 1.00[E 2170, 608. 00 2170, 608
H5: 14
B BREMEXE Tm2%1 (1000m 2)
£ 7 R - BIRTE BARL 2 B Of € W E B &
REE S4 kY 2L
B 1.00 3,602. 00 3,602/2.00H / 8H
HEE&
A 1.00 30, 100. 00 30, 100
(e S
A 1.00 26, 700. 00 26, 700
LEEXE
A 4.50 23, 100. 00 103, 950
AR L NOY
% 2.00 164, 352. 00 3, 287
= B EZEEH - 1,000.00m 2 167.00 167, 639
H5 : 15
2 - B GRIERE) 1RXEHY (A=)
£ 7 R - BIRTiE BAGL 2 B Of € W E B =
Bk (RFAKRE) 16000m2
= 1.00 145, 664. 00 145, 664
= it 1E%HeH - 1.00K 145, 664. 00 145, 664
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SMTEEHMRP LHNSISCT XS REERBISM 4

H5:16
% unE 1t38Y (t)
2 Lo R - KT By = B ff € &8 # H %
o (%) EBTaY—ER
t 1.00 15, 000. 00 15, 000
& B {EZ%BEN - 1.00t 15, 000. 00 15, 000
&H5 17
& BREBROEE 1REHY (A=K)
2 Lo R - KT By = B ff € &8 # w %
BlEFEHED
A 2.00 60, 600. 00 121, 200
B S HER
A 8.00 52, 300. 00 418, 400
B = H AR
A 8.00 41,100. 00 328, 800
BIEBNF
A 12.00 34, 900. 00 418, 800
Mo 2RD%
% 1.00 1, 287, 200. 00 12,872
& B EZBER - 1.00 1, 300, 072. 00 1,300, 072




Rifiz -/ \v7r—o
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&5 :18
B BETAH 18y (%)
2 Lo R - KT By = B ff ol | W E B &
REBE 54 kY 2
H 1.00 3,602. 00 3,602 2.00H / 8H
Anot i INEYZR— , FRP 2. 5m
H 1.00 34,192. 00 34,192/ 1H
B2 F E AR
A 1.00 60, 600. 00 60, 600
B = AR
A 1.00 52, 300. 00 52,300
RIS AN
A 1.00 41,100. 00 41,100
BIEBF
A 1.00 34, 900. 00 34,900
GNSS1E# DGNSS
H 1.00 25, 740. 00 25,740
Wt -MEFR 36~455kHz
H 1.00 339, 900. 00 339, 900
AR ES2 N0
% 1.00 592, 334. 00 5,923
& B EZBER - 1.00= 598, 257. 00 598, 257
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SMTEEHMRP LHNSISCT XS REERBISM 4

H5:19
& TILFE—LALE 0. 5km25 1)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3, 602. 00 3,602 2.00H / 8H
Anot i INEYZR— , FRP 2. 5m
H 1.00 34,192.00 34,192 1H
BIEFEHED
A 1.00 60, 600. 00 60, 600
B S HER
A 1.00 52, 300. 00 52, 300
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 1.00 34,900. 00 34,900
GNSS1E# DGNSS
H 1.00 25, 740. 00 25, 740
Wt -MEFR 36~455kHz
H 1.00 339, 900. 00 339, 900
AR E7N0)
% 2.00 592, 334. 00 11, 846
& B 1EZ%HES - 0. 50km2 1, 208, 360. 00 604, 180
H5:20
A HEETRIE (TR 1TH&HY (2.4km)
£ 7 R - BAKTiE By = B Of & | W E B =
TEE S4 kY 2L
H 1.00 3, 602. 00 3,602 2.00H / 8H
B S HER
A 1.00 52, 300. 00 52, 300
B = H AR
A 1.00 41,100. 00 41,100
BIEBNF
A 2.00 34, 900. 00 69, 800
AR =L NOY
% 1.00 166, 802. 00 1,668
& B 1E%HBEN : 2.40km 70, 195. 00 168, 470

10
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&H5: 21
275 : UVAVY -4 -8l = 1Tkm2%1Y (0.1Tkm2)
2 Lo R - KT By = B ff € &8 W E H %
B S HER
A 25.10 52, 300. 00 1,312,730
B = H AR
A 24.00 41,100. 00 986, 400
BIEBNF
A 16. 00 34, 900. 00 558, 400
HWEEE HHEEE (FA) =3,405x (¥ & km)
+93 = 1.00 467, 000. 00 467, 000
REETEE RESEE= (BEEAGE+HWMEE) X BE
EEERI (6% = 1.00 191, 065. 00 191, 065
& it 1YE%HESN : 0.10km 2 35, 155, 950. 00 3,515,595
55 :22
2 |ES4ERD 1004&HrE 2 Y
2 Lo R - KT By = B ff € &8 W E w %
BIEFEHED
A 1.00 60, 600. 00 60, 600
B S HER
A 3.00 52, 300. 00 156, 900
B = H AR
A 6.00 41,100. 00 246, 600
BIEBNF
A 7.00 34, 900. 00 244, 300
Mo 2RD%
% 1.00 708, 400. 00 7,084
& B {EZBEA : 100. 0% MR E 7,154.00 715, 484
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H5:23
2 MESERO 1RXEHY (A=)
£ 7 R - KT By = B Of & | # B &
BlEFEHED
A 4.20 60, 600. 00 254,520
B S HER
A 11.30 52, 300. 00 590, 990
B = H AR
A 10. 20 41,100. 00 419, 220
AR
% 4.00 1, 264, 730. 00 50, 589
& B EZBER - 1. 00 1,315, 319. 00 1,315,319
H5:24
2 . BATHE ZEP,
£ 7 R - KT By = B Of & o # B =
BlEFEHED
A 1.00 60, 600. 00 60, 600
B S HER
A 0.50 52, 300. 00 26, 150
& it {EZ8ER - 1.00mE 86, 750. 00 86, 750
H5:25
AT hEERE 1EHY
£ 7 R - KT By = B Of & o # B =
BlEFEHED
A 0.50 60, 600. 00 30, 300
B S HER
A 0.50 52, 300. 00 26, 150
& it {EZ8ER - 1.00mE 56, 450. 00 56, 450
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H5:26
2 . ZB|E IEED)
2 Lo R - KT By = B ff | # H %
BlEFEHED
A 0.50 60, 600. 00 30, 300
B S HER
A 0.50 52, 300. 00 26, 150
& it {EZ8ER - 1.00ME 56, 450. 00 56, 450
&H5 2]
B EBHRSR 1Xzy
2 Lo R - KT By = B ff | # w %
(BHERE
= 1.00 200, 000. 00 200, 000
& it EZBER - 1.00 200, 000. 00 200, 000
H5:28
2% MIERRAE 1T#ELEY
2 Lo R - KT By = B ff | # w %
HIREE B ERE 1158
T 1.00 48, 300. 00 48, 300
& it EZBER - 1.00= 48, 300. 00 48, 300
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